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2./%2 A l-ft-diameter, 2-ft-long cylinder floats in an open '
tank containing a liquid having a specific weight y. A U-tube
manometer is connected to the tank as shown in Fig. P2.142 |
When the pressure in pipe A is 0.1 psi below atmospheric pres- |/
sure, the various fluid levels are as shown. Determine the weight
of the cylinder. Note that the top of the cylinder is flush with
the fluid surface,

~0.1 psi

Gage fluid G = 1.5

B FIGURE P2.142
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A manometer eguetion gives,

o (3stt) - (5615, ) (250) - huo (14)= P,
o That o
’ ¢ (3542)-(15)(124 £, ) (25 )-fbz lf,é"a)(/ H]=F4f/i£’?)/’%-ﬁ”7
) /
C)/ = 80.4 ﬁ_a
Thus, tram k£g.0)
2 -(5 a)onilh) = 1278
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